— <t

0| o

@ 1.
9

© 72
5

— |

© 3

— <t

10 ™




2. e xoe=x B = s
$Foexg
q & mofo] thE St
= o] AQ
A AY 7k

1

B

®, @

L2, ®, 06

L ®9] 2.2

EEA N 2 mFe
o]

M
®
rlo

vt




2]

oz Fie] syt

©® F AW FEv

‘ ® gue THo S ayt.




4. v gho] Z2 HE ot v A o2 YEhfAlL.

3:4 5:6 8:6 10:12

>
> ®et: 10:12=5:6

3
3'4_1
5
56_8
8 4
8.6_6_g
10 5
10'12_5_6
webA] 50 63 10 : 12+ H] 9] gho] E5Uth
Hg Aoz et 5:6 =10 : 1294 ch




A50] 4ecmdl GollA thZHd o] Aol7t 4emsl PFEE S| HolE

.
(2x2x3.14) - (4x4><%>

= 12.56 — 8 = 4.56( cm?)




